






77.003 × 13.998 + 18.04 × 14.996 = ?

A.1380
B.1355
C.1212
D.1419
E.2154



3x² – 39x + 120 = 0

y² – 23y + 112 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



A.396
B.570
C.288
D.455
E.875

𝟑𝟒𝟎

𝟐𝟎.𝟎𝟎𝟐
÷

𝟐𝟗.𝟗𝟗𝟕

𝟓𝟏𝟎
×

𝟏𝟕𝟗.𝟗𝟎𝟗

𝟓𝟗.𝟗𝟏𝟗
=  ?



71,   79,   ?,   134,   109,    325

A.72
B.84
C.80
D.70
E.NOT



50x² – 60x + 16 = 0 

20y² – 32y + 12 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



( 7.02 )2 × ( 196 )1/2 × ( 31.98 )2 ÷ {( 7.01 )3 × ( 16.02 )2} = ?

A.5
B.7
C.8
D.10
E.12



30x² – 44x + 16 = 0 

24y² – 4y – 4 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



𝟐𝟒𝟗𝟖. 𝟗𝟖 × 𝟔𝟐𝟑. 𝟗𝟗𝟏 ÷ 𝟗𝟖. 𝟗𝟏 ÷ 𝟐𝟔. 𝟎𝟏 = ?

A.6
B.8
C.25
D.10
E.15



16x2 + 20x + 6 = 0 

10y2 + 38y +24 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



19.98  % × 𝟗𝟗. 𝟖𝟗 + 
𝟒
𝟏𝟐𝟗𝟓. 𝟖𝟕 ×

𝟒
𝟖𝟏. 𝟏𝟓 = ?

A.12
B.14
C.20
D.24
E.27



960,    240,    ?,    225,    393.75

A.175
B.180
C.195
D.196
E.200



( 20.015 × 12.025 + 4.984 × 8.021 ÷ 3.987) ÷ 24.955 = ?

A.2
B.4
C.7
D.10
E.16



18x2 + 18x + 4 = 0 

12y2 + 29y +14 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



52000.201 ÷ 59.999 × 30.3164 = ? × 13.2303

A.2000
B.4000
C.6000
D.9000
E.12000



120,   ?,    40,    30,    24,   20

A.120
B.75
C.60
D.45
E.90



9.09 % of 1334 + 14.30 % of 2100 = ?

A.310
B.420
C.490
D.512
E.560



23.6,    147.6,   ?,    2976, 8931

A.733
B.743
C.622
D.535
E.262



( 34.9 )2   ÷ 7   + ? =       217.02

A.1200
B.1400
C.1750
D.2000
E.2220



1125,    5626,    1405.5,    ?,     2107.75

A.4242.5
B.4232.25
C.2737.5
D.4217.5
E.3127.25



15.0032 + 23.982 - 5.982 – ? = 1282.998 - 978.898 

A.460
B.570
C.340
D.820
E.270



In a survey 3000 persons in a city, it was found that
each person is playing from at least one of the three
games i.e. cricket, football and hockey. Number of
person who are playing cricket only are 25 % more
than the number of person who playing football only.
Number of person who are playing hockey only are
120% of the number of person who are playing cricket
only cricket. Number of person who are playing all the
sports are 1/3rd of the number of person who are
playing cricket only. Number of person who are playing
both cricket and football ( but not hockey ) are 20
more than the number of person who are playing all
three sports and 190 more than the number of person
who are playing both cricket and hockey ( but not
football ). 400 people are playing both football and
hockey.



एक शहर में 3000 व्यक्तियों के एक सर्वेक्षण में यह
पाया गया कक प्रत्येक व्यक्ति िीन खेलों में से कम से
कम एक खेल यानी किकेट, फुटबॉल और हॉकी खेल
रहा है। केर्वल किकेट खेलने र्वाले व्यक्तियों की संख्या
केर्वल फुटबॉल खेलने र्वाले व्यक्तियों की संख्या से
25% अधिक है। केर्वल हॉकी खेलने र्वाले व्यक्तियों की
संख्या केर्वल किकेट खेलने र्वाले व्यक्तियों की संख्या
का 120% है। सभी खेल खेलने र्वाले व्यक्तियों की
संख्या केर्वल किकेट खेलने र्वाले व्यक्तियों की संख्या
का 1/3 है। किकेट और फुटबॉल दोनों खेल रहे (लेककन
हॉकी नह ं) व्यक्तियों की संख्या, िीनों खेल खेलने र्वाले
व्यक्तियों की संख्या से 20 अधिक है और किकेट और
हॉकी दोनों खेल रहे (लेककन फुटबॉल नह ं) दोनों खेल
रहे व्यक्तियों की संख्या से 190 अधिक है। 400 लोग
फुटबॉल और हॉकी दोनों खेल रहे हैं।



In a survey 3000 persons in a city, it was found
that each person is playing from at least one
of the three games i.e. cricket, football and
hockey. Number of person who are playing
cricket only are 25 % more than the number of
person who playing football only. Number of
person who are playing hockey only are 120%
of the number of person who are playing
cricket only cricket. Number of person who
are playing all the sports are 1/3rd of the
number of person who are playing cricket
only. Number of person who are playing both
cricket and football ( but not hockey ) are 20
more than the number of person who are
playing all three sports and 190 more than the
number of person who are playing both
cricket and hockey ( but not football ). 400
people are playing both football and hockey.



Find the difference between who are playing only hockey to the number of 

people who are playing only cricket ?

केवल हॉकी खेलने वाले व्यक्तियों की संख्या और केवल क्तिकेट खेलने वाले व्यक्तियों की संख्या के 

बीच का अंतर ज्ञात कीक्तिये?

A.30
B.40
C.90
D.60
E.NOT

250

270750 600

80 150

900



Find the ratio between the number of people who are playing cricket and hockey 

to the number of person who are playing hockey and football ?

क्तिकेट और हॉकी खेलने वाले व्यक्तियों की संख्या और हॉकी और फुटबॉल खेलने वाले व्यक्तियों की

संख्या के बीच का अनुपात ज्ञात कीक्तिये?

1.12:5
2.13:10
3.7:27
4.2:11
5.NOT

250

270750 600

80 150

900



Find the sum of people who are playing only cricket and only football ?

केवल क्तिकेट और केवल फुटबॉल खेलने वाले व्यक्तियों का योग ज्ञात कीक्तिये?

A.1350
B.1270
C.1330
D.1400
E.NOT

250

270750 600

80 150

900



Find the difference between the number of people who are playing only cricket 

and only hockey ?

केवल क्तिकेट और केवल हॉकी खेलने वाले व्यक्तियों की संख्या के बीच का अंतर ज्ञात कीक्तिये?

A.120
B.150
C.130
D.140
E.NOT

250

270750 600

80 150

900



Find the people who are playing only football and hockey are what percent of the 

people who are playing only cricket and football ?

केवल फुटबॉल और हॉकी खेलने वाले व्यक्तियों का क्तकतना प्रक्ततशत है िो केवल क्तिकेट और फुटबॉल खेल 

रहे हैं?

A.20
B.40
C.50
D.67
E.NOT

250

270750 600

80 150

900


